
51,2 m      =       ..............     mm 51 mm      =       ..............     m

63,8 mm      =       ..............     m 80,67 mm      =       ..............     m

28,5 mm      =       ..............     m 55 m      =       ..............     mm

31,7 m      =       ..............     mm 31,2 m      =       ..............     mm

31 mm      =       ..............     m 62 m      =       ..............     mm

21 mm      =       ..............     m 88,86 m      =       ..............     mm

8 mm      =       ..............     m 17,85 mm      =       ..............     m

22,7 m      =       ..............     mm 14 m      =       ..............     mm

79 mm      =       ..............     m 5,79 mm      =       ..............     m

7 m      =       ..............     mm 2,08 m      =       ..............     mm

94,1 mm      =       ..............     m 18,05 m      =       ..............     mm

40 m      =       ..............     mm 6 m      =       ..............     mm

68,79 mm      =       ..............     m 4 mm      =       ..............     m

5,7 mm      =       ..............     m 0 mm      =       ..............     m

3 mm      =       ..............     m 3 mm      =       ..............     m



51,2 m      =     51200 mm 51 mm      =     0,051 m

63,8 mm      =     0,0638 m 80,67 mm      =     0,08067 m

28,5 mm      =     0,0285 m 55 m      =     55000 mm

31,7 m      =     31700 mm 31,2 m      =     31200 mm

31 mm      =     0,031 m 62 m      =     62000 mm

21 mm      =     0,021 m 88,86 m      =     88860 mm

8 mm      =     0,008 m 17,85 mm      =     0,01785 m

22,7 m      =     22700 mm 14 m      =     14000 mm

79 mm      =     0,079 m 5,79 mm      =     0,00579 m

7 m      =     7000 mm 2,08 m      =     2080 mm

94,1 mm      =     0,0941 m 18,05 m      =     18050 mm

40 m      =     40000 mm 6 m      =     6000 mm

68,79 mm      =     0,06879 m 4 mm      =     0,004 m

5,7 mm      =     0,0057 m 0 mm      =     0 m

3 mm      =     0,003 m 3 mm      =     0,003 m


